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In 1941 the Bri
sh and Soviet governments forced Reza Shah from power becasue of his leaning

toward Germany.
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1.

2.

3.

4.

United States regional interests came under serious a#ack in Iran during the late 1970s from an

unexpected direction of Islamic groups.
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The second way for US foreign policy to have access to oil in the Middle East was

military ..........................

production relation intervention tradition
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1. 2. 3. 4.

The U.S. support for Israel................the way for the soviet union to expand its influencce.

paved found sold bought
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1. 2. 3. 4.

The debate over oil na
onalizatoin occurred during the term of the fi,eenth Majlis in 1947.The

word"debate"is closest in meaning to........................ 

party blocks talks role
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1. 2. 3. 4.

Musaddiq was enjoying much popular support.
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Negative Equilibrium means to follow a policy of preventing any foreign presence in the country.
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It was Musaddiq's inability to assess the potential opposition in the country.
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The first round of negotiations took place in Tehran and was attended by the British

representative.
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Soviet influence was exercised through the Tudeh party in Iran.
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Since the new Zahedi government had not enough popular support, the support of the Shah and

of the armed forces were clearly needed.
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It was essential for the United States that Iran should remain an independent nation and not

dominated by the Soviet Union.
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The United States was looking for an Iran free from communist control.
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The Shah followed the new US advice and promised freedom of elections in Iran. 
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The United States began increasing the economic and military aids to Iran to develop the socio-

political structures.The word "aids" is closest in meaning to..............

helps powers laws terms
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1. 2. 3. 4.

This  relationship allowed the United States to exert influence on Iran.
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1. 2. 3. 4.

The Savak, under the command of the Shah, followed policies to ensure security of the monarchy.
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1. 2. 3. 4.

The Shah failed to undertake the necessary reforms.

��:4D� �&%>6! �&�
����� �&�;$��C

18-

1. 2. 3. 4.
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the Iran internal and external policies in the 1960s and 1970s reflected the shah's power and

priority.
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1. 2. 3. 4.

The young monarch remained politically inexperienced.The word"monarch"is closest in meaning

to...................

soldier prime minister king officer
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One of his great weaknesses was his jealousy.
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1. 2. 3. 4.

The shah himself promoted non-traditional values and customs.
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1. 2. 3. 4.

The final source of wealth was the well-known Pahlavi Foundation.
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1. 2. 3. 4.

The second group was formed by ex-communists from the Tudeh Party who beleived that only a

leninist-style organisation could mobilized the people.The prefix  "EX-" is closest in meaning

to................

latter former new future
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1. 2. 3. 4.

The country was not run on the close personal relationship between the ruler and the people.The

word"run" here means.............
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1. 2.

3. 4.

The Shah saw Iran as having an increasingly greater role in the gulf region.

 ����. X��=
  T7� X��=
  T7� X�7)8�  Q
�� X�7)8�

26-

1. 2. 3. 4.

Thousands of political opponents were secretly killed by Savak and reported dead as a result of

accident or heart failure.
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1. 2. 3. 4.

In order to consolidate dynastic succession, the shah arranged to have his empress.
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The Shah indeed followed a general economic strategy, which was much influenced by

increasingly large oil revenues."revenue" means.................
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1. 2. 3. 4.

The Shah declared that it symbolized the emancipation of persian women in recent years and

claimed "now that I have placed on my head the crown of the world's oldest monarchy.
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1. 2. 3. 4.
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